Pythagorean Theorem Extensions

Often on tests you will be asked to use the Pythagorean Theorem as a step to solve a problem. Be
careful - the answer you get for one of your sides of a right triangle (a, b, or ¢) is not always the final

answer to the problem!

In the problems that follow, read the question, write (in words) what you will do to find the answer,
show your work, and then answer the problem.

Problem Situation

Written description of problem solving process and
work

Answer(s)

1. Jimmy wants to make a metal
bracket to hold up a display
shelf. He draws a diagram of the
bracket, which is shown below.
Find the perimeter of the bracket
(i.e. the length of metal Jimmy
will need to buy). Round your
answer to the nearest tenth of an
inch. 7 in.
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2. What is the area of the
rectangle shown below?
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it broke, the top of the tree
touched the ground 12 feet
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How tall is the part of the tree

still left standing?
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3. A farmer has planted the
piece of land shown below with
corn and beans. What is the area
of the square section planted
with beans?
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6. The map below shows two
different routes that Frances
takes the mall — one when she
picks up her friend Yvette
first, and one when she goes
straight to the mall. How
many miles does Frances save
when she goes directly to the
mall?
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25 The map below show: 2 different routes
Ms. Bentsen enn take to drive to the airport
from her house.
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How many miles could Ms. Bentsen save by
traveling on Alrport Road ingtend of Mountain
Hiphway and Oak Read to pet to the alrport?
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